GROUP EV

Revision : -A- Exploded View : EV C/PNL XG 50HZ PORTABLE
Date : 10/17/12 Page 1 of 2 Drawing No. : 0J9592



ITEM PART QTY. DESCRIPTION GROUPEY

1 043180 13 WASHER FLAT M4

2 075207L 2 CB 0016A 1P UL/CSA

3 0A5489 1 SNAP BUSHING .75 OPEN

4 0D4804B 1 XFMR IDLE CURRENT

5 0E6480 13 NUT HEX LOCK M4-0.7 NY INS

6 0G8382 4 SCREW PPPH #8-16 X .66" BZC

7 0G9756 1 RECPTACLE PANEL STORM-GEN

8 077043B 0.8FT  CONDUIT FLEX .50" ID

9 0G9391 1 COVER,30A 120/240V

10 0H2929 1 OUTLET 30A 120/250V SPCGR

11 0H3362B 1 TRULOAD POWERBAR ASSY 6.5KW

12 0H8214 1 HOUR METER W/ALERTS AC/DC

13 0J7877 2 OUTLET CEE 7/4 16A TYPE F

14 0J8080 8 SCREW PFHM M4-0.7 X 14

15 0J8222 2 SNAP FIT LED XG 230V

16 0H0265D 1 CB 25A 1P CUL/CSA (MODEL 0062200 ONLY)
0H0265E 1 CB 30A 1P CUL/CSA (MODEL 0062210 ONLY)

17 0J8188A 1 WLDMNT CTRL PNL 5600W XG 50HZ (MODEL 0062200 ONLY)
0J8188 1 WLDMNT CTRL PNL 6400W XG 50HZ (MODEL 0062210 ONLY)

Revision : -A- Exploded View : EV C/PNL XG 50HZ PORTABLE

Date : 10/17/12 Page 2 of 2 Drawing No. : 0J9592



